ERTHERF B THEEE Y - Z —IRH]

HER 6—4
2. ANBPOHH
a>0,az2z1DtE, d'=1,d =a Erb, HFEOERLVKOEADELNET,
log,1=0, log,a=1
HMEAZIT, TOEREFEHIEAL Y, UTOMERH Y £,
DR
a>0,a#1, M>0, N>0 D& X,
HEI. log, MN =log, M +log, N
HEI. log, % =log, M —log, N
HEI. log, M" =plog, M
EDEBAH
a>0,a#1,b>0,c¢c>0, czl DL X,
log,. b e .
log, b=—2— « HETT, (E% a—c|IEH)
log.a
BlRE2 WROXEZFE LRIV, GHILOMEE T ~MOF )
(1) log,3+log, 5 = log,(3x5) = log, 15
(2) log, 18 ~log, 2 = log, 5" log,9 = log, 3" =2log, 3=2x1=2
(3) log, 3 +log, 6 —log, % =log,(3x6 x2) = log,(3° x2%) = 2log, 3 +2log, 2 = 2log, 3 + 2
(4) log, Y8 = log, 8t = llog2 2% = lx 3log,2 = 3
4 4 4
1 340 33 3
Bl :  log, Y8 =log,(2°)! =log, 2! :Zlog22 =7
1
. 1 25 : 25)? ) 3
(5) 3log, 5 — Elog3 o log, (35— log, (?) = log, 5 - log, 3= log, (5 x 3) =log,3=1
BIRES3 WOEHEZEZ LRIV, EOZEBAXOFIM]
log, 32 2 EHLWE L LTAEH
(1) log, 32 = Tog, 4 C UED 1T 422 T A 4 o> 2 ISBIRT D & AEGH AR Y £, )

_ log, 2° _5log,2 5

- log, 2° - 2log,2 2

(2) log, 3xlog, 4 « EBRAE-TNHOT, a2 sz TIET 5,

. log, 4 ;
O E%x 2 Cl%éxék—>log23xlog34=10g23><10g23 = log, 4 = log, 2* =2log, 2 =2
0g,

. log, 3
@ Ex 31CF 525 E - log, 3xlog, 4 = 10*‘552x10g322 o L 5x2log; 2= 1x2=2
og

3 gs
log, 36 log, 6 2log, 6
(3) log, 3 —log, 36 =log, 3 — 28 0 log, 3 - %80 log, 3 _208 0
log, 4 2log, 2

= log, 3 —log, 6 = log, % = log, % =log, 27" =-log,2=-1
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